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o FYF T T [ 59 JeT-9H 7 JRT g 8 T §97 35 8

Please make sure that the printed pages in this question paper are 8 in number and

it contains 35 questions.
o U9T-gF § qIE7 & & IV 79 T8 Fie TN F HH FOT-Yiawl & JEI-gT g7 fod)

The Code No. on the right side of the question paper should be written by the

candidate on the front page of the answer-book.
o PYY T9T B TV [T G 07 G Ye, JoT F FHH I iG]

Before beginning to answer a question, its Serial Number must be written.
o FUv-yiTEr # &7 4 @l 9=/ 9= 7 BIs/

Don’t leave blank page/pages in your answer-book.
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o FTCYRTH B SANFT HF o dfic Ta AN ST FTITEATAN & [ Y frEr Faw T
FIC]

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.
o el STy U To FIT-UF GV SasT i@y

Candidates must write their Roll Number on the question paper.

° FUI F9T F FAT 37 @ §7 98 FARTGT #T d & FeT9H {7 T & 8, ThEr # IIT 59
T § Fig 4 @@ &hwre Tl A @

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after

examination.

dAe: g7 #F 1 @3 F @ B G 797 & 9 T g97 ffqard &

Attempt any two questions from question numbers 1 to 3. Rest are

compulsory.

1. ) ol 7 & 7 0P 7o I 8 ? QR 49 b & S H R 6
What is Solar Energy ? What is its importance ? Give working principle of solar
panel.

2. AIDS W fagyd e ford| 6

Write detailed note on AIDS.

3. [ v & Qe & auiE ] 6

Explain various types of nursery.
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10.

11.

12.
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(3)

7 S0 99 991 qEeEr o S ey ?

What precautions should be taken while sowing seeds ?

AT R TR-EI% o § T gaqn|

Give differences between 2-stroke and 4-stroke engine.

o oY ¥ el @™ & @9 9 @iwar San

Give advantages and disadvantages of loose and packed food.

SOl ST § Sge BN drcil 1gAl & YRR H 9O B

Explain types of lines used in engineering drawing.

- /B ?

What is T-set square ?

32 P STANT A 999 {6 graei=al &1 & @A ey ?

What precautions should be taken while using dyes ?

T o8 W & o1 /M6 7

What are the characteristics of a good colour ?

el & YBR % WREX & U R

Explain any two types of plaster.

&-afET & ?
What is T-budding ?
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13.

14.

15.

16.

17.

18.

19.
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Ty fies B 7

What is drip irrigation ?

ggelt & T =R s @ R g% SRR & v &Y

Explain any one process of preparing fodder for animals.

T F D 7

What is Biomass ?

(agFrs %)

(Objective Type Questions)

SEET A gT H .o % TR qe7 T B
In diabetes, proportion of ............. increases in the blood
ORS & T &Y ... 2l

Full form of POPis ....ccovvvnnna.... .
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20.

21.

22.

23.

24.

25.

26.
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(5)
qeor AT H S L. g | o o 2
For orthographic projection, object is given in ............... view
et B SIFAT v Bl
SI unit of energy is ..................
TIT @B v T H B
Rain gauge is also known as .............
R v, SEBTC bl ST 1 TEATEAT 2
Grape is an example of ............... type of cutting.
fredt & pH &l 37 7 BT SEE ..o G| ]

A pH value of 7 of soil shows that it is ............. .

T o YhR & A &dl H TE B

Vegetation has a combination of .............. types of minerals.

et & RIS GRTT e 3 59 P a9 | e gl

In vegetation, photo synthesis increases due to ............. mineral.
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27.

28.

29.

30.

134

TR et @ pH I 9 &, & IFH ..o

If soil has pH value of 9, then ............. should be added to correct it.
gl W % oo yfyerd ot 99 3 B

(A) 2 (B) 6

(C) 10 (D) 14

On earth, only ........... percent of water is drinkable.
(A) 2 (B) 6

(€) 10 (D) 14
........... TF YAeF T H TE B

(A) faicr (B) wR<®
(C) Tws (D) e
.............. acts as a conductor element.

(A) Silicon (B) Plastic
(C) Wood (D) Copper
g &0 & e 2l

(A) & B) dre

() wHdiER (D) &S

. BT AT B Sd B AMRTY
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31.

32.

33.

134

(7)
The unit of current is ................ :
(A) Ohm (B)
(C) Ampere (D)
Bt et .o P HH G BT B
(A) B (B)
(C) D (D)

Scurvy is caused due to deficiency of Vitamin ............... .

(A) B (B)
€) D (D)
TN FOJH TH .o 2l

(A) FEERST (B)
(C) #e (D)
The main constituent of food is .............. .
(A) Carbohydrate (B)
(C) Fat (D)
RBCH oo F F G A o

(A) Q= (B)
(C) oTfes (D)
Rickets is caused due to deficiency of ...........
(A) Iron (B)
(C) Iodine (D)

Volt

Hz

E

g
e

Protein

Vitamin

qifeqw
dfesrad

Sodium

Calcium
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34. GIURYT ............. THR & B 2 1
(A) 2 (B) 3
(C) 4 (D) 5
There are ............ type of GI pipes.
(A) 2 (B) 3
) 4 (D) S
35. AO TS JUR & BTG .ovnnnnnnn .. it Hiex B B 1
(A) 0.25 (B) 0.5
€ 1 (D) 2
Area of AO size paper is ............... square meter.
(A) 0.25 (B) 0.5
€ 1 (D) 2
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